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(B) | EERD | (eem) | EERD] %) | (B) | (%) | (opm) | (ppm) | (B X - EO) (B)
& R m|= E|E& 364| 8664| 0.001 ol o0.00 0 0.0| 0.008] 0.002 @) 0
& R ™|@EmEB|E 361| 8639| 0.001 o| o0.00 0 0.0| 0.023] 0.004 O 0
& R m|/hiL%H|E 347| 8461| 0.001 ol o0.00 0 0.0| 0.020] 0.004 @) 0
& R W4 #|E 365| 8694 0.002 ol o0.00 0 0.0| 0.022] 0.004 O 0
t B Wt E|E 362| 8667| 0.001 ol 000 0 0.0| 0.020] 0.003 @) 0
t B WA &E 364| 8688| 0.003 2| 002 0 0.0| 0.127] 0.022 O 0
N TN #|#ET 364 8671| 0.001 ol 000 0 0.0| 0.008] 0.002 @) 0
=TT o £/ S [E 360 8622| 0.001 ol 000 0 0.0| 0.015] 0.003 @) 0
Be £ MR E[E 365| 8676| 0.001 o| 0.0 0 0.0| 0021] 0.002 @) 0
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(B) | (R | (opm) | (pm) | (BFRED) | (%) | (BERED] (%) | (B) | %) | (B) | (%) [ (ppm) (B)
£ R M= Bl 364| 8628 0.006| 0.044 ol 000 ol 000 0 0.0 0 0.0| 0014 0
% iR w|@EmEE 360| 8621 0.010| 0.054 ol 000 ol 000 0 0.0 0 0.0| 0.020 0
& iR m|/hrE|E 355| 8516 0.006| 0.054 ol 000 ol 000 0 0.0 0 0.0| 0015 0
& R M|+ R 352| 8392 0.008| 0.054 ol 000 ol 000 0 0.0 0 0.0| 0016 0
& R m|ER @E|E 356| 8587 0.009| 0072 ol 000 ol 000 0 0.0 0 0.0| 0.020 0
€ R m|@E EH|E 365| 8678 0.008] 0.055 o] o0.00 ol o0.00 0 0.0 0 0.0| 0.023 0
& R |4 #W|E 364| 8668 0.004] 0.036 ol o0.00 o| o0.00 0 0.0 0 0.0] 0.008 0
+t E Wt E|E® 363| 8642| 0.005| 0.035 o| 0.0 ol 000 0 0.0 0 0.0| 0012 0
t E WA &E 363| 8644 0.003] 0.032 ol o0.00 o| o0.00 0 0.0 0 0.0] 0.009 0
N TN #|#ET 354| 8477 0.006| 0.044 ol 000 ol 000 0 0.0 0 0.0| 0014 0
g m|KREF|E 365 8701 0.009] 0.040 o]l o0.00 o| o0.00 0 0.0 0 0.0| 0017 0
PRI PR 351] 8380 0.003| 0.024 ol o0.00 o] o0.00 0 0.0 0 0.0| 0.007 0
B W Wil Blx 361| 8635 0.005| 0.037 ol o0.00 o| o0.00 0 0.0 0 0.0| 0.011 0
=TT £V o2 [E 352| 8329 0.008| 0.048 ol 000 ol 000 0 0.0 0 0.0| 0018 0
BE % W|HR E[E 356| 8498 0.007| 0049 o| 0.0 ol 000 0 0.0 0 0.0| 0015 0
R ETE B[E 364| 8654 0.006] 0.041 ol 000 ol 000 0 0.0 0 0.0| 0012 0
Mo BTN 357| 8498 0.007| 0.043 ol o0.00 o| 0.0 0 0.0 0 0.0| 0018 0
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98%1E 98%{E
(H) | (B8] (epm) | (opm) | (opm) | (H) | (B¥RED | (opm) | (opm) | (ppm) (%)
€ R w|= B 364] 8628| 0.001| 0.035| 0.003 364] 8628| 0.007| 0.069| 0.016 89.9
& R ™|@ErEs|E 360| 8621 0.003| 0.089| 0.012 360 8621 0.013] 0.141| 0.031 76.1
£ iR W/ EE 355 8516| 0.003| 0.048| 0.007 355 8516] 0.009| 0.085| 0.022 70.0
& R W+ &= 352] 8392 0.001| 0046 0003 352 8392| 0008 0.093] 0019 91.9
& R m|ER @E|E 356| 8587 0.002| 0.150| 0.008 356 8587| 0.011] 0.222| 0.028 80.4
& R m|@E  #B|E 365 8678 0.002| o0.106| 0.010] 365 8678] 0.010] 0.159| 0.030 84.3
& R W4 #|E 364| 8668 0.001| 0.049| 0.003 364 8668 0.005| 0.085| 0.011 78.2
t B Wt E|E 363| 8642 0.001| 0052 0006 363| 8642| 0006 0.078] 0018 78.3
t B WA &E 363| 8644| 0.001] 0050| 0.004] 363 8644| 0.004| 0079] 0013 83.2
N TN #|#ET 354| 8477 0.001| 0036 0005 354 8477] 0007 0.065| 0.020 85.2
g m|KREF|E 365/ 8701| 0.003| 0086 0015 365/ 8701] 0.012] 0.113| 0.031 71.4
BRI | PRI 351 8380 0.000] 0.016] 0.001 351] 8380 0.004] 0037 0.008 91.1
B W Wil Blx 361| 8635 0.001| 0.026| 0.003 361| 8635 0.006] 0.058| 0.013 84.2
=TT+ E/N =2 [E 352] 8329 0.002| 0070 0008 352 8329] 0.010| 0.113] 0.025 77.4
BE € W|HR  E|E 356| 8498 0.002| 0050 0.006] 356 8498| 0.008] 0.088| 0.021 81.0
2 O0E ETIE WE|E 364| 8654 0.002| 0065 0004] 364 8654] 0007 0.101] 0015 78.1
M E ET| B |E 357] 8498 0.001| 0060 0005 357| 8498| 0.008| 0.090| 0.023 87.8
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(8) | )| pm) [ @) | (%) E] (%) | (pm) | (ppm) | (E X - £EO) (B) ()
& RmM= B 363| 8717 0.2 0 0.0 0 0.0 1.2 0.4 O 0 0
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(B) | R | pm) | () | BERED ] (B | BERED | (epm) | (oppm)
€ R w|= B 365| 5418| 0.033 44 231 o] 0.00| 0.094| 0.042
& iR W|@EmEE 365 5406 0.036 51 283 ol o000| 0094] 0.047
£ iR W/ EE 365| 5428| 0.041 771 433 0| 0.00f 0097] 0.052
€ R W% Rk|E 365| 5446| 0.038 82| 456 o| o0.00| o0.101| 0.050
& R m|ER @E|E 365| 5436| 0.038 51 276 0| 0.00f 0.090] 0.048
€ R m|@E EE 365| 5458 0.043 99 553 0| o0.00| 0098 0054
& R W4 #|E 365| 5462| 0.038 Al 402 0| 0.00f 0.099] 0.049
+ B Wmlt E|E® 365| 5460 0.039 51 311 o| o000| 0084 0.050
N T BR|ET 364| 5402| 0.034 50| 312 0| 0.00] 0.095| 0.044
B Wm|REFME 365 5437| 0.031 35 185 ol o000| 0092] 0.043
B TR | 365| 5421 0.040 61 343 0| 0.00] 0.089| 0.050
B Wl Bl*k 365 5428 0.034 42| 253 ol o000| 0094] 0.044
=TT o £/ £ [E 365 5454 0.038 60| 341 0| 0.00f 0094 0.049
Be £ W|#R E[E 365 5436 0.032 44| 254 ol o000| 0091] 0.041
2 ME ETE WBE 363| 5369 0.037 59| 374 ol o0.00| 0097 0.048
R BT | 363| 5405| 0.039 78] 434 o| o0.00| 0.096| 0051
RRERETIEE B|X 365 5399| 0.043 83| 481 ol o0.00| 0095 0053
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BROME|Li-cenEE| HBx-AH%
(B) | B5R) [(mg/m®) BSR) | (%) | (A) | (%) [img/m*N(mg/m®)| (B x - £O) (B)
& R M= E|E 360| 8675| 0.016 ol o0.00 0 0.0| 0.123] 0.043 @) 0
& R ™|@EmEE|E 357 8645 0.017 o]l o0.00 0 0.0] 0.085 0.043 O 0
& R m|/hiL%H|E 357| 8648| 0.014 ol o0.00 0 0.0| 0.091] 0043 @) 0
& R |4 #W|E 361| 8691 0.019 ol o0.00 0 0.0] 0.090] 0.048 @) 0
t B Wt E|E 360| 8668 0.017 ol 000 0 00| 0.102] 0.045 @) 0
+t B WX H|x 361| 8688 0.019 ol 000 0 00| 0.151] 0.048 @) 0
+ E mW|HEEX 361| 8681| 0.016 o| o0.00 0 00| 0.127] 0.043 @) 0
t B m|EEsx 360| 8681| 0.015 ol o0.00 0 0.0| 0.108] 0.042 @) 0
+t E WA &|E 359] 8660| 0.020 10l 0.1 1 03| 0.425| 0.060 @) 0
N T R|ET 361| 8683] 0.015 ol o0.00 0 0.0| 0.163] 0.042 @) 0
mE mREFME 359 8655 0.018 ol o0.00 0 0.0] 0.098] 0.051 @) 0
PR | PRI 361| 8684 0016 ol 000 0 00| 0.160] 0.045 @) 0
B W Wl 5% 359 8670| 0.016 ol o0.00 0 0.0| 0.105] 0.043 @) 0
B W WmR EE 360| 8677| 0.016 o] o0.00 0 0.0| 0.104] 0.044 @) 0
B W xE xR 361| 8678| 0.017 o| o0.00 0 0.0] 0.130] 0.046 @) 0
BE % W|HR E[E 359 8652| 0.016 o| o0.00 0 00| 0097| 0044 @) 0
2 O0E ETIIE OWEE 360 8678 0.017 o| 0.0 0 0.0| 0.090] 0.047 @) 0
M BTN | 359 8669| 0.017 ol o0.00 0 0.0| 0.101] 0.045 @) 0
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e Bxr-Ag | A D98l
B) | @& Wemd B8 | %) (U g/m°) (W g/m® () (2) (1 g/md)
& R W|@EmEh|E 31 742 15.8 1 3.2 37.0 - - - -
t B Wt ElE 361| 8668 135 2 0.6 434 316 0 1 315
/AN VN 1 NS VN - 357| 8624 125 8 2.2 52.2 35.3 1 2 31.9
B W W F|E 355 8579 11.6 6 1.7 60.3 33.1 0 1 33.0
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6~ 9B% 6~9BF3BFMR | 6~9BF3BFMH
g |EFy !‘a*:‘h“ 6~ 98| 6~9RF3RERS EHED EHED
wrr [meg| BE e | m |aeE| HE TiyfE 0.20ppmC%#2 | 0.31ppmC%E#E
RER g [ o | B8 At-BHE | ABHE
i BoE|BEE| ZTOHE Z0E&
(B5FE) | (opmC)| (ppmC)|[ (B) | (ppmC)| (ppmC)] (H) | (%) | (B) | (%)
& R W= B|iE 8608 009] 009 363 021 0.01 1 0.3 0 0.0
t B f|X H|X 8661| 0.07| 0.07 365 0.17| 0.01 0 0.0 0 0.0
m o ET(A EE[E 8570/ 0.05| 0.06 360/ 027| 0.00 3 0.8 0 0.0
9) A2 BRULERiEKE
AR £RIEKFE
6~ 9% 6~9fF
e = | IR T oy |6~0BF| 6~9RF3BER | e - i |6~0BF| 6~ 9RF3RERE
HET |BIER BE | FET| BT, e AE |ET|izse]°; ha
Hhisf =3 & BETE IEIJE SEiE e & ZEE ,EI]E SE{E
s | B s | B
ol | ZIEE EalE| RIEME
(B5RE) | (opmC)| (ppmC)| (B) | (ppmC)| (ppmC)| (BERE) | (opmC)| (ppmC)| (H) | (ppmC)| (ppmC)
£ R M= B|EF 8608 1.98] 1.98 363 224| 1.84| 8608 207| 207 363 236 1.89
t B WX H|Xx 8661 187 187 365 201 173 8661 194 195 365 2.16[ 1.80
w o BT[N E|E 8570 192 194 360 221 179 8570 196 200 360 233 183
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(1) —RIE=EFR
N 98%{EET
o < 1B EfEM ”
B | e | sy | 1P| TEEIEAOT00m | 1B 1pom | T EEIEAT | quppmp | VEL (EICEE]
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FER | B ® & DEE BT OEE oY DR : ol
ZDEE oA 98%flE | Z#BA T
ZNENE A%
@B | @D | eem) | Gom) | @R [ 0 | @ERD [ () ) (%) (D) (%) | (ppm) (B)
& R m|(B)RE & 364| 8666] 0026 0.084 0 0.00 0 0.00 0 0.0 2 05| 0.039 0
& R m|(B)RHET & 364| 8676] 0.026] 0.147 ol 000 31 0.36 0 0.0 12 33| 0.041 0
& R m|(B)EEIT |#T 362 8613] 0.019] 0.085 o] 000 o] 0.00 0 0.0 1 0.3 0.034 0
A hET|(B)Ham |[{E 364| 8655| 0.022| 0.078 o] 000 o] 000 0 0.0 5 14| 0038 0
) T98%IESHMIEIC L5 1 B FHIE0.06ppmZE B A - BB EIE. 1 FRND1 B EHEDSHI8%DEEIEH>T. M. 0.06ppmERAT-LDD B TH .
() —BILEZRRUEZRREY
— 1L ZEFR(NO) ZRBIEYINO+NO2)
: mg| B2 | mmns | wwy [VEEETEES e | e | e |PREITEES] equgm
[ RER || AE e | OB | EOFE | Sh | ey @ | PEE [ BOF [0 NoNo2)
B 5 = e | rRosuis | = F = 5 | RRosuiE
(H) (BER) | (opm) (ppm) (ppm) (H) (BRED) | (ppm) (ppm) (ppm) (%)
& R m|(B)RE & 364] 8666 0.021| 0.169| 0.039 364| 8666] 0.048| 0.221] 0.070 55.4
& R m|(B)RET & 364] 8676 0.022| 0.185| 0.046 364| 8676 0.048] 0.299] 0.082 54.6
& R H|(B)EET [#T 362 8613 0.010| 0.205| 0.028 362] 8613 0029 0.286] 0.061 65.6
A hET|(B)Ham |[{E 364] 8655| 0.026] 0.224] 0.059 364 8655| 0.048| 0289 0092 454
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- A 18 - o |z AR
a5 |, o |BEREASOppma | T ETEEA  pepni | gy | TETEEA | RELBORME| o
ma| @e BIER | FFH B - EMEZ D 10ppm% 0es | o&p 10ppmZ B2 1= B AY| S~ &5 1 B F15 LLE &
THET SBIER iﬁ’,E lE|§Q fal & _EI]A BA-BH#E E'E' 20 2B &R |{EA10ppmERB A Tz et
=E ZDEE LI-CEDEE A% "y
Rl 8%
(H) (B5fE) | (opm) ([=) (%) =] (%) (ppm) (ppm) (B x - &O) (8) (H)
£ R m|(BEE & 365| 8699 0.6 0 0.00 0 0.0 6.1 0.9 @) 0 0
& R m|(B)RET & 365| 8707 1.0 0 0.00 0 0.0 115 1.8 O 0 0
£ R W|(B)EI [#T 365/ 8703 0.4 0 0.00 0 0.0 1.9 0.6 O 0 0
LsZeqnilion (GG iES 365 8724 0.4 ol 000 0 0.0 1.9 0.6 O 0 0
3 TBEEEQRMMTIMICES1 B FEHYEIOppmEBA-BR I, I BEHENB VAN S2%0EE N1 B FHEZRNLIIBEHEDSS 10ppmZE B2 =B

THb,
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(4) SZitedt T RS \ .
' |, : TSRS 1BTEs || BTH| TEESEAS | RELEORM
o G BER | FTY gt = Spans == | ED |0.10mg/m’%E#Ez 1= |FHEISLS1HFHY
AT AER A& :ﬁlli [ @ |020me/m Z—iﬁz_i: 0.10mg/m ’Z’ﬁif: DEx= ERI2% | B a2 B L @EL| [EA0.10me/mE
it B BEKEZOES | BHEFNEA & BsME DR BB
(8) (B | (mg/m®) | (BRE) (%) (H) (%) | (mg/m* | (mg/m*) (Fx - #&O) (B)
& R m|(BEE & 361 8699 0016 0 0.00 0 00| 0.088] 0.038 O 0
& R m|(B)RET |’ 361] 8703] 0.031 117 1.34 5 14| 0.828| 0.090 O 0
& R M|(B)EII |#£T 361 8701 0018 0 0.00 0 00| 0.131| 0.045 O 0
LsZeqniliog (GG iES 360 8678| 0.020 ol 000 0 00| 0.115| 0.047 ©) 0
3) MBEREOEYNITEICES1 BEHE010me/m°E BB ILIE. IBEHENBNAMNS2%DFEED 1 B EHEERILI-1 B EHENDS50.10me/m%

BA-B¥THS.

F=FEL. 1B FHEH0.10me/m°EBZ = A D2 B U EEHELEXBHDIE. 2% S BIZAS TS BHAITDNTIEBRS LA,

) B FRRYME
N = P HA/S
wEr | omes iﬁ aw | =M ﬁé;;:‘.,i“ B FERI98Y{E 35 8/m%
e BA-B%
(B) | &R (0 g/m?) =) (%) (u g/m°) (u g/m°) (=D
% <2 T |(B)B < [ 1E 151] 3615 15 2 13 38.0 - -

) MESEEORBMHEICE 1B FHEMNSY o/m EBAEHIEE I ERO1BEHEDSBENAHS8%DEEIZH T, M, 35y g/m%
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(6) FEAAR > iRibIKFE
6~OB( ¢ oo 6~OBF3EFRIT L | 6~9RFaRERI T
| ER | FEY [ 80D [ g0 5 [6~9FERTIIE [EA020pmCE | {EAD31ppmCE
E | AER || M & Ry [ Ty Bat-A%s Bxt-A%s
fi& EAERE ZDEE ZDEE
(B5f8) | (ppmC) | (ppmC) (H) (ppmC) | (ppmC) (B) (%) (8) (%)
& R m|(B)RE [& 8563 0.13 0.12 360 030/ 0.0 15 42 0 0
(1) A2 RULRILKSE
> ERILKER
. 6~9/F(Z 6~ 0B 6~ 9B 6~ OB
| mep [PE| MEN | £T [ 808 | o0 |6~OMSBMTHE| REs [ £T9 | S05 | good 6~ 9RF3BFRA T 1 1E
” Hhig 5] & Fxy | - o ] & FEy | 0
fi8 Bt | RIEE g RIEE
(8) | (opmC) | (ppmC) (H) (ppmC) | (ppmC) | (BFRA) | (ppmC) | (ppmC) (H) (ppmC)
& R m|(B)RE [& 8563 1.89 1.89 360 2.06 1.76] 8563 2.02 2.01 360 1.87




3 —MREEXRTAEDDERMAEHROBEFEIL
(1) ZFAEBRE (FTHIE)

—-— AEE JzFe £ F 5 & (ppm)
i | s a1 saE | 16 | 1 7 e | TR 84 B | R 04E e | T Rio0 s | T 21 | E 224 R | R2a 4R BE | R4 B

& R H|= B 0.004 0.004 0.004 0.004 0.002 0.001 0.001 0.001 0.001 0.001
& R Wm|E B H|E 0.005 0.004 0.002 0.002 0.002 0.001 0.001 0.001 0.002 0.001
& R W/ I FH|E 0.003 0.004 0.003 0.002 0.001 0.001 0.001 0.001 0.001 0.001
& R Hh|$ RE 0.002 0.002 0.001
& R H|&R [iic) ke 0.004
& R Wit B[ 0.002 0.002 0.002 0.002 0.002 0.002 0.001 0.002 0.002 0.002
t B |t BE 0.004 0.004 0.003 0.002 0.001 0.001 0.001 0.001 0.001 0.001
£t B X =] ES 0.001 0.001 0.001
+t B B #8 E[k 0.001 0.001 0.001
t B g & B[X 0.001 0.001 0.000 0.000 0.000 0.000 0.000 0.000 0.000
t B & W& | 4E 0.002 0.002 0.002 0.003 0.003 0.002 0.002 0.002 0.004 0.003
t B (& sk 0.000 0.001 0.000
t B | =] ES 0.001 0.001 0.001
1\ N A wl#ET 0.004 0.004 0.003 0.001 0.001 0.001 0.001 0.001 0.001 0.001
m B mXx B OFE 0.004 0.002 0.001 0.001 0.001 0.001 0.001 0.000 0.001
n & W o fE 0.004 0.004
B ¥ M| 0.004 0.002 0.002
B W 1S 0.001 0.001 0.001
=TT N F[1x 0.004 0.004 0.004 0.002 0.001 0.001 0.001 0.001 0.001 0.001
ST ES NMES 0.006 0.006 0.005 0.003 0.002 0.001 0.001 0.001
BE £ T|IR E 0.004 0.003 0.002 0.002 0.002 0.001 0.001 0.001 0.001 0.001
2 OWE ET|E L [E 0.003 0.003 0.003
N E ET|A (1 0.004 0.004 0.004
HEEZHET(S IHES 0.003 0.003 0.001
o RE EHT| =1ES 0.001 0.001 0.001

(2 ZEERE (1 BEHEDFER 2 %ERIME) (GRIBE : 0. 04ppmLl )

- - A& 1B FEHEDER2%BRINME (opm)

sl (Eppisa | T | T | Eas | TR o | E R0 | F 21 | F 224 | Tr2sE B | R4k R

€ R W|= BlE 0.007 0.008 0.006 0.006 0.006 0.003 0.004 0.004 0.002 0.002
& R W|@E ® W|E 0.011 0.008 0.006 0.005 0.005 0.004 0.005 0.005 0.005 0.004
£ R W/ I BH|E 0.007 0.007 0.006 0.006 0.005 0.004 0.005 0.005 0.004 0.004
& R | r|E 0.004 0.004 0.004
£ R &R Fiic] =3 0.008
& R Wit B ME 0.004 0.005 0.005 0.004 0.005 0.004 0.004 0.004 0.006 0.004
t B |t BlE 0.006 0.007 0.006 0.005 0.003 0.003 0.002 0.003 0.003 0.003
t E WX H|% 0.002 0.002 0.002
t E WA # E[x 0.002 0.003 0.002
t E g & BlX 0.002 0.002 0.002 0.002 0.002 0.001 0.002 0.002 0.002
t E || I |13 0.009 0.009 0.012 0.013 0.016 0.010 0.014 0.016 0.026 0.022
t B | NES 0.002 0.002 0.002
t E | H|% 0.002 0.002 0.002
AN /N A W|ET 0.007 0.007 0.006 0.005 0.003 0.002 0.002 0.002 0.002 0.002
mE fX B OFE 0.007 0.006 0.003 0.003 0.003 0.002 0.002 0.002 0.002
& W R|E 0.008 0.007
BRI P M| 0.007 0.007 0.005
B W B|*x 0.006 0.003 0.003
B W F|1E 0.007 0.007 0.007 0.006 0.003 0.003 0.003 0.003 0.003 0.003
=TT ES INES 0.010 0.011 0.010 0.008 0.005 0.004 0.004 0.003
BE % TR E 0.012 0.008 0.006 0.006 0.006 0.004 0.004 0.003 0.003 0.002
b= f = & (1 0.005 0.005 0.006
N # ET|A (1 0.007 0.006 0.007
FREEET| S = ES 0.006 0.006 0.004
o BE EHT| B B|x 0.003 0.003 0.003




Q) —HIER (EFI9E)

—-— AEE JzFe £ F #5 & (ppm)

i | s a1 saE | g1 6 s | 1 7 e | TR 84 B | R 04E e | T Rio0 s | T 21 | E 224 B | T Roa 4R BE | R4 B
& R H|= ElE 0.010 0.008 0.008 0.009 0.008 0.008 0.007 0.007 0.006 0.006
& R Wm|E B H|E 0.019 0.017 0.014 0.016 0.014 0.012 0.010 0.010 0.010 0.010
& R W/ I FH|E 0.010 0.010 0.010 0.010 0.009 0.008 0.007 0.007 0.006 0.006
& R Hh|$ B [ 0.016 0.013 0.012 0.012 0.010 0.010 0.009 0.009 0.008 0.008
& R H|&R [ric) RE4 0.016 0.016 0.015 0.015 0.013 0.012 0.011 0.011 0.010 0.009
& R H|&E ER|4E 0.013 0.012 0.011 0.012 0.011 0.010 0.009 0.009 0.008 0.008
& R Wit B[ 0.010 0.010 0.010 0.009 0.008 0.007 0.007 0.006 0.005 0.004
t B |t BlE 0.008 0.007 0.007 0.007 0.007 0.007 0.006 0.005 0.005 0.005
£t B X =1ES 0.004 0.004 0.004
t E WA # E[x 0.004 0.004 0.003
t B g & B[X 0.003 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002
t B & W& | 4E 0.006 0.006 0.005 0.004 0.004 0.004 0.004 0.004 0.004 0.003
t B (& sk 0.002 0.002 0.002
t B | H|% 0.004 0.004 0.004
1\ N A W|ET 0.013 0.013 0.012 0.010 0.009 0.008 0.008 0.007 0.008 0.006
m B mXx B OFE 0.014 0.014 0.013 0.013 0.012 0.011 0.010 0.010 0.009 0.009
n & W o fE 0.013 0.012
B e A ME|B 0.007 0.006 0.005 0.005 0.005 0.004 0.004 0.004 0.004 0.003
=TT o I Blx 0.009 0.009 0.008 0.005 0.005
B W F|1E 0.015 0.013 0.013 0.013 0.012 0.010 0.009 0.009 0.008 0.008
=N E] NES 0.014 0.014 0.012 0.013 0.010 0.008 0.008 0.008
BE £ T|IR L1E 0.012 0.011 0.010 0.010 0.009 0.008 0.008 0.008 0.008 0.007
2 OWE ET|E L [E 0.011 0.011 0.010 0.011 0.009 0.008 0.007 0.006 0.006 0.006
M BTN | 0.012 0.011 0.009 0.010 0.009 0.009 0.008 0.008 0.007 0.007
HEEZHET(S IHES 0.005 0.004 0.005
hgE S T R Blx 0.003 0.003 0.003 0.003 0.003 0.002 0.002 0.002 0.002

4) —BeExR (1 BFEHEDFRHEIS%IE)

(BBEE# - 0. 04ppm~0. 06ppmLL F)

- AEB A% 1B EDERIS%IE (ppm)

his | gy 1548 B | E 164 | Rt 74 RE | 184 B | E R 94 B | TR0 e o1 R B | E R 224 B | Rt o3 e 24 RE
€ R W|= BlE 0.022 0.018 0.018 0.020 0.016 0.016 0.014 0.015 0014 0.014
& R W|@E ® W|E 0.036 0.032 0.028 0.032 0.028 0.023 0.022 0.027 0.022 0.020
£ R W/ I BH|E 0.019 0.021 0.022 0.025 0.019 0.019 0.014 0.016 0.016 0.015
£ R ¢ R=[{E 0.030 0.025 0.023 0.022 0.020 0.019 0.018 0.019 0.017 0.016
£ R &R Fiic] RE4 0.029 0.029 0.029 0.027 0.025 0.023 0.022 0.024 0.020 0.020
£ R & B[4 0.031 0.029 0.029 0.029 0.026 0.024 0.022 0.024 0.023 0.023
£ R Wit B[4 0.020 0.020 0.023 0.020 0.016 0.016 0.016 0.015 0.009 0.008
t B |t BlE 0.019 0.016 0.016 0.015 0.014 0.015 0.014 0.013 0.012 0.012
t E WX H|% 0.009 0.009 0.010
t E WA # E[x 0.009 0.010 0.009
t E g & BlX 0.006 0.006 0.005 0.005 0.005 0.005 0.004 0.005 0.004
t E || I |13 0.016 0.015 0.014 0.010 0.010 0.011 0.009 0.010 0.009 0.009
t B | NES 0.005 0.005 0.005
t E | H|% 0.011 0.011 0.012
AN /NG A W|ET 0.026 0.027 0.028 0.020 0.020 0.017 0.017 0.019 0.019 0.014
mE fX B OFME 0.023 0.023 0.024 0.025 0.022 0.020 0.020 0.020 0.018 0.017
& W R|E 0.021 0.021
BRI P V|7 0.015 0.013 0.010 0.011 0.010 0.009 0.008 0.008 0.008 0.007
B W Bl*x 0.020 0.018 0.017 0.012 0.011
B W F|1E 0.030 0.026 0.027 0.024 0.023 0.021 0.019 0.021 0.019 0.018
B W ffE NES 0.026 0.026 0.023 0.024 0.021 0.017 0.017 0.027
BE £ TR E 0.023 0.023 0.021 0.021 0.021 0.019 0.018 0.019 0.017 0.015
E O ET)E (1 0.022 0.022 0.022 0.022 0.020 0.016 0.015 0.014 0.012 0.012
M # BTN #(1E 0.029 0.027 0.024 0.025 0.021 0.021 0.020 0.021 0.018 0.018
FREEET| S = ES 0.014 0.011 0.013
o BE EHT| B Blx 0.007 0.007 0.007 0.007 0.006 0.005 0.005 0.005 0.005




6) —BMLER (EFI9E)

—-— AEE JzFe £ F #5 & (ppm)
i | s a1 saE | g1 6 s | 1 7 e | TR 84 B | R 04E e | T Rio0 s | T 21 | E 224 B | T Roa 4R BE | R4 B

& R H|= B 0.004 0.003 0.002 0.003 0.001 0.001 0.001 0.001 0.001 0.001
& R Wm|E B H|E 0.009 0.007 0.006 0.007 0.007 0.005 0.005 0.004 0.003 0.003
& R W/ I FH|E 0.002 0.003 0.003 0.003 0.002 0.002 0.001 0.001 0.002 0.003
& R Hh|$ RE 0.004 0.002 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001
& R H|&R [ric) RE4 0.004 0.004 0.004 0.004 0.003 0.003 0.002 0.002 0.002 0.002
& R H|&E B[4 0.004 0.005 0.004 0.004 0.003 0.003 0.002 0.002 0.002 0.002
& R Wit B[ 0.003 0.003 0.003 0.002 0.002 0.002 0.002 0.002 0.001 0.001
t B |t BE 0.006 0.004 0.003 0.003 0.003 0.003 0.003 0.002 0.002 0.001
£t B X =] ES 0.001 0.001 0.001
+t B B #8 E[k 0.002 0.002 0.001
t B g & B[X 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
t B & W& | 4E 0.003 0.003 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001
t B (& 1T} P 3 0.000 0.000 0.000
t B | =] ES 0.002 0.002 0.002
1\ N A wl#ET 0.006 0.006 0.005 0.003 0.002 0.002 0.002 0.001 0.002 0.001
m B mXx B OFE 0.009 0.007 0.007 0.009 0.007 0.006 0.005 0.005 0.004 0.003
n & W o fE 0.006 0.005
B e A M| 0.002 0.002 0.002 0.001 0.001 0.001 0.000 0.000 0.000 0.000
=TT o 1T Bl|x 0.003 0.002 0.002 0.001 0.001
=TT N F[1x 0.005 0.004 0.003 0.003 0.003 0.003 0.003 0.003 0.003 0.002
ST ES NMES 0.004 0.005 0.004 0.004 0.002 0.002 0.002 0.001
BE £ T|IR E 0.004 0.003 0.002 0.003 0.002 0.002 0.002 0.002 0.002 0.002
2 OWE ET|E L [E 0.003 0.003 0.003 0.002 0.002 0.001 0.001 0.001 0.001 0.002
M BTN #[1E 0.005 0.004 0.003 0.002 0.001 0.002 0.001 0.001 0.001 0.001
HEEZHET(S IHES 0.002 0.001 0.001
hgE S T R Blx 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000

(6) ZHEILY (FFHME)

—-— A Jzbe £ F #5 & (ppm)

his | gy 1548 B | E 164 | Rt 74 RE | 184 B | E R 94 B | TR0 e o1 R B | E R 224 B | Rt o3 e 24 RE

€ R W|= BlE 0.014 0.011 0.010 0.011 0.009 0.009 0.008 0.007 0.007 0.007
& R W|@E ® W|E 0.028 0.024 0.020 0.024 0.021 0.017 0.015 0.014 0.013 0.013
£ R W/ I BH|E 0.012 0.013 0.013 0.013 0.011 0.009 0.008 0.008 0.008 0.009
£ R ¢ R=[{E 0.021 0.015 0.014 0.013 0.012 0.011 0.010 0.010 0.009 0.008
& R H|&R [ric] RE4 0.019 0.020 0.019 0.019 0.016 0.015 0.013 0.013 0.012 0.011
& R W|@E B[4 0.017 0.018 0.016 0.016 0.014 0.013 0.011 0.011 0.010 0.010
£ R Wit B[4 0.013 0.014 0.013 0.012 0.010 0.009 0.009 0.008 0.006 0.005
t B |t BlE 0.015 0.011 0.010 0.011 0.010 0.010 0.009 0.007 0.007 0.006
t E WX H|% 0.005 0.005 0.004
t E WA # E[x 0.005 0.005 0.005
t E g & BlX 0.003 0.003 0.002 0.002 0.002 0.002 0.002 0.002 0.002
t E || I |13 0.009 0.009 0.007 0.006 0.005 0.006 0.004 0.005 0.004 0.004
t B | NES 0.003 0.003 0.002
t E | H|% 0.007 0.006 0.006
AN /NG A W|ET 0.019 0.019 0.017 0.013 0.011 0.010 0.009 0.009 0.009 0.007
mE fX B OFME 0.023 0.021 0.020 0.023 0.019 0.017 0.016 0.015 0.013 0.012
& W R|E 0.018 0.017
B OWE A V|7 0.009 0.007 0.006 0.006 0.005 0.005 0.004 0.004 0.004 0.004
B W Bl*x 0.012 0.011 0.010 0.006 0.006
B W F|1E 0.020 0.017 0.016 0.017 0.015 0.013 0.012 0.012 0.011 0.010
=TT ES INES 0.018 0.019 0.016 0.016 0.012 0.011 0.009 0.010
BE £ TR E 0.015 0.014 0.012 0.013 0.011 0.010 0.010 0.009 0.010 0.008
E O ET)E (1 0.014 0.014 0.013 0.013 0.011 0.009 0.008 0.008 0.007 0.007
M # BTN #(1E 0.017 0.015 0.013 0.013 0.010 0.011 0.009 0.009 0.009 0.008
FREEET| S = ES 0.008 0.005 0.006
o BE EHT| B Blx 0.004 0.004 0.004 0.003 0.003 0.003 0.002 0.003 0.003




(D _—FbRERE (FTHIE)

—-— AEE JzFe £ F #5 & (ppm)
i | s a1 saE | g1 6 s | 1 7 e | TR 84 B | R 04E e | T Rio0 s | T 21 | E 224 B | T Roa 4R BE | R4 B
& R H|= kS 0.3 0.3 0.3 03 0.3 0.3 0.2 0.2 0.2 0.2
8) —EibikFE (1 BHEHEDFER 2 %ERIME) (JRIBE X . 10ppmLLTF)
- - A& 1B EYEDER2%RIME (opm)
i | s a1 saE e | g1 6 s | R 7 e | TR 84 R | R 04E e | T Rio0 s | T 21 | E 224 R | T R2a 4R BE | R4 B
& R H|= Bl1E 05 05 0.5 05 0.4 0.4 0.4 0.4 0.4 04
9) HEZAXI AU b (RED 1 BREEQEFEHE)
HET =S A& BREOIBBEOETYE (ppm)
gk | i 5eE | E i 64m | E 1 7R | E s 4m | E 1 04E k| T mio04E pE | i1 R pE| TR0 | TR o3 TR0 ERE
& R Wm|= BlE 0.039 0.042 0.036 0.037 0.039 0.036 0.037 0.037 0.032 0.033
& R W|@E ® WE 0.030 0.026 0.027 0.034 0.035 0.034 0.036 0.037 0.034 0.036
£ R W/ I BHE 0.029 0.026 0.025 0.032 0.034 0.033 0.035 0.036 0.036 0.041
& R | R|E 0.033 0.032 0.030 0.035 0.036 0.037 0.038 0.039 0.036 0.038
£ R &R [ric] RE 0.028 0.028 0.028 0.031 0.035 0.034 0.036 0.036 0.034 0.038
£ R & B|1E 0.036 0.038 0.033 0.037 0.039 0.040 0.040 0.036 0.038 0.043
& R Wit B1E 0.036 0.036 0.034 0.036 0.037 0.037 0.040 0.039 0.037 0.038
t E |t E|E 0.035 0.035 0.032 0.034 0.036 0.037 0.038 0.037 0.036 0.039
t E w|X H|% 0.042 0.042 0.042 0.039 0.039 0.037 0.042 0.041
t E WA # E[x 0.038 0.037 0.035 0.037 0.033 0.039 0.037 0.035
t E g & BlX 0.042 0.042 0.039 0.035 0.039 0.035 0.038 0.040 0.035
/AN /NG A W|ET 0.037 0.038 0.033 0.035 0.037 0.037 0.038 0.036 0.032 0.034
m &' WK E F|E 0.032 0.035 0.031 0.030 0.032 0.029 0.033 0.032 0.030 0.031
B ¥ V|7 0.035 0.034 0.037 0.035 0.042 0.042 0.044 0.041 0.037 0.040
B W Blx 0.033 0.034 0.036 0.038 0.035 0.038 0.037 0.037 0.036 0.034
B W F|1E 0.034 0.033 0.033 0.034 0.038 0.039 0.041 0.038 0.035 0.038
B W f|%E NES 0.031 0.030 0.032 0.030 0.038 0.038 0.037 0.039
BE % T|R E 0.036 0.037 0.033 0.036 0.036 0.039 0.039 0.036 0.034 0.032
2 OWE BT L LE 0.033 0.033 0.033 0.033 0.035 0.035 0.040 0.035 0.033 0.037
N E ET|A #[1E 0.036 0.034 0.035 0.031 0.038 0.039 0.042 0.039 0.036 0.039
PEEEET|E IHES 0.037 0.036 0.038 0.035 0.041
o RE B ET| R Blx 0.045 0.046 0.044 0.046 0.045 0.040 0.041 0.041 0.040 0.043
(10) HieEAXIA L+ (REDBERS 1 BEEDEFHIE)
T A A& REOHRS 1HEEOEFHE (ppm)
Hoteh | g1 sap | ERvieE | TRt | E R s g | E R 1 9 4 RE | 204 B | T p 21 4 | TR 2248 e | T R2sE B | R4 RE
&€ R W|= Bl1E 0.053 0.055 0.048 0.050 0.051 0.047 0.047 0.047 0.041 0.042
& R W|@E ® W|E 0.043 0.037 0.037 0.048 0.048 0.047 0.048 0.049 0.046 0.047
£ R W/ I BHE 0.039 0.037 0.035 0.042 0.046 0.045 0.045 0.047 0.047 0.052
& R Hh|$ R|{E 0.049 0.046 0.042 0.049 0.049 0.050 0.051 0.051 0.048 0.050
£ R &R Fiic] RE4 0.039 0.038 0.039 0.042 0.047 0.046 0.048 0.047 0.045 0.048
& R H|&E B[4 0.051 0.052 0.045 0.051 0.053 0.053 0.053 0.048 0.050 0.054
£ R ld B[4 0.049 0.050 0.046 0.049 0.050 0.049 0.052 0.050 0.048 0.049
t B |t BlE 0.047 0.047 0.042 0.045 0.048 0.049 0.049 0.047 0.045 0.050
t E WX H|% 0.055 0.054 0.053 0.050 0.050 0.047 0.053 0.051
t B WA # E|x 0.051 0.050 0.045 0.049 0.044 0.052 0.048 0.046
t E g & BlX 0.054 0.053 0.049 0.044 0.050 0.046 0.047 0.051 0.045
1A /NG A W|ET 0.053 0.054 0.045 0.048 0.050 0.050 0.049 0.048 0.042 0.044
mE fX B OFME 0.048 0.051 0.045 0.044 0.046 0.042 0.046 0.045 0.042 0.043
BRI H P V|7 0.045 0.044 0.047 0.044 0.052 0.053 0.054 0.051 0.045 0.050
B W Blx 0.045 0.046 0.047 0.050 0.045 0.050 0.048 0.048 0.047 0.044
B W F|1E 0.047 0.045 0.045 0.046 0.051 0.053 0.053 0.049 0.046 0.049
=TT ES NES 0.042 0.042 0.042 0.041 0.051 0.050 0.048 0.051
BE £ TR E 0.050 0.050 0.044 0.049 0.048 0.052 0.051 0.047 0.045 0.041
E O ET)E (1 0.047 0.046 0.046 0.046 0.049 0.048 0.054 0.047 0.044 0.048
N # ET|A #[1E 0.050 0.047 0.047 0.042 0.051 0.052 0.055 0.052 0.047 0.051
FREEES Bl*x 0.049 0.047 0.049 0.046 0.053
o BE B ET| R Blx 0.056 0.057 0.055 0.057 0.056 0.051 0.051 0.051 0.049 0.053




) HeEAXLF 2 b (BED 1 ERHE]

[mt

H30. 12ppmLl E D B D)

—-— AEB B B D 1BR{EA.1200mL ED B %L (B)
gl | s gt 54 B | ST et 64 B | SE B 74E BE | SR B s 4R B | T B 04F B | T mi204E B | T Rt R | Rk | TR | T2

& R H|= B 0 0 0 0 0 0 0 0 0 0
& R Wm|E B H|E 0 0 0 0 0 0 0 0 0 0
& R W/ I FH|E 0 0 0 0 0 0 0 0 0 0
& R Hh|$ RE 0 0 0 0 0 0 0 0 0 0
& R H|&R [iic) ke 0 0 0 0 0 0 0 0 0 0
& R H|&E B[4 0 0 0 0 0 0 0 0 0 0
& R Wit B[ 0 0 0 0 0 0 0 0 0 0
t B |t ElE 0 0 0 0 0 0 0 0 0 0
£t B X H|% 0 0 0 0 0 0 0 0
+t B t|E #8 E[k 0 0 0 0 0 0 0 0
t B g & B[X 0 0 0 0 1 0 0 0 0
1A N A W|ET 0 0 0 0 0 0 0 0 0 0
m B WmXx B OFE 0 0 0 0 0 0 0 0 0 0
B ¥ M| 0 0 0 0 0 0 0 0 0 0
B W 1S 0 0 0 0 0 0 0 0 0 0
=TT N F[1x 0 0 0 0 0 0 0 0 0 0
ST ES INES 0 0 0 0 0 0 0 0
BE % T|IR E 0 0 0 0 0 0 0 0 0 0
s ET|E & |1E 0 0 0 0 0 0 0 0 0 0
N ET|A (1 0 0 0 0 0 0 0 0 0 0
FEEEAET(S B|*x 0 0 0 0 1
o RE EHT| =1ES 0 1 0 0 1 0 0 0 0 0

(12) ZEMFIRYE (FFEHE)

AT AR A& £ FE ¥ {E (mg/m%)

sl (Eppisa | T | T E | Easam | TR o | E R0 | F 21 | F 224 | Tri2sE B | R4 e

€ R W|= BlE 0.020 0.020 0.021 0.021 0.019 0.020 0.016 0.016 0.015 0.016
& R W|@E ® W|E 0.019 0.020 0.022 0.020 0.017 0.019 0.017 0.017 0.017 0.017
£ R W/ I BH|E 0.018 0.017 0.019 0.020 0.018 0.020 0.017 0.016 0014 0.014
& R | r|E 0.021 0.020 0.022
£ R &R Fiic] =3 0.019
€ R Wit B ME 0.022 0.021 0.022 0.021 0.019 0.021 0.018 0.018 0.016 0.019
t E |t E|E 0.022 0.023 0.025 0.019 0.015 0.019 0.016 0.018 0.016 0.017
€t E WX H|% 0.018 0.018 0.019 0.017 0.016 0.016 0.015 0.017 0.019 0.019
t E WA # E[x 0.019 0.018 0.019 0.017 0.017 0.017 0.015 0.016 0.016 0.016
t E filgg & B[X 0.016 0.016 0.019 0.016 0.014 0.016 0.015 0.016 0.015 0.015
t E || I |13 0.022 0.022 0.024 0.021 0.021 0.020 0.019 0.019 0.022 0.020
t B | NES 0.021 0.020 0.022
t E | H|% 0.019 0.018 0.020
AN /N A W|ET 0.020 0.019 0.020 0.019 0.017 0.020 0.016 0.017 0.016 0.015
mE fX B OFE 0.021 0.020 0.020 0.018 0.016 0.019 0.016 0.016 0.016 0.018
& W RE 0.018 0.018
BRI P V|7 0.020 0.018 0.019 0.020 0.017 0.020 0.016 0.018 0.017 0.016
B W W Blx 0.016 0.015 0.017 0.018 0.018 0.019 0.016 0.017 0.015 0.016
B W F|1E 0.020 0.019 0.020 0.018 0.015 0.018 0.016 0.016 0.016 0.016
B W ffE NES 0.020 0.020 0.023 0.018 0.016 0.019 0.017 0.018 0.017 0.017
BE £ TR E 0.020 0.019 0.019 0.019 0.017 0.019 0.017 0.017 0.016 0.016
2 WE BT (1 0.019 0.019 0.018 0.019 0.019 0.019 0.017 0.018 0.018 0.017
M # BTN #[1E 0.018 0.019 0.020 0.018 0.018 0.018 0.018 0.019 0.018 0.017
hEE R ET|S Bl*x 0.018 0.019 0.020 0.020 0.020
o BE EHT| B Blx 0.018 0.017 0.020 0.017 0.016 0.018 0.016 0.016 0.015




(13) FEHFIRYE (1 BIEHIEDER 2 %R5ME) (EEE% . 0. 10mg/m’LLF)
AT AEB A& 1B EHIBEOER2%BRIME (mg/m)
g | e isag | Emieg | Emi7a | Eaisg | Eaog | Eaoog | TR | ERioog | ERos | TaoaE
& R H|= Elix 0.048 0.052 0.056 0.057 0.056 0.051 0.039 0.047 0.036 0.043
& R W|@E B #M|E 0.045 0.045 0.058 0.054 0.045 0.047 0.043 0.048 0.040 0.043
£ R W/ I BH|E 0.046 0.046 0.048 0.052 0.055 0.045 0.040 0.047 0.036 0.043
& R % rE 0.052 0.052 0.056
£ R &R Fic] RES 0.048
£ R ld H|E 0.054 0.053 0.057 0.055 0.051 0.049 0.042 0.052 0.035 0.048
t B |t BlE 0.047 0.056 0.067 0.051 0.050 0.046 0.039 0.054 0.037 0.045
t B X = ES 0.045 0.049 0.059 0.045 0.050 0.041 0.041 0.046 0.049 0.048
t B fi|E #8 E[X 0.046 0.046 0.054 0.045 0.046 0.043 0.037 0.052 0.040 0.043
t B g & B[X 0.044 0.046 0.057 0.047 0.053 0.042 0.039 0.051 0.040 0.042
t B |/ 5 | 4E 0.057 0.062 0.079 0.056 0.067 0.054 0.048 0.061 0.079 0.060
t E | MES 0.050 0.054 0.062
t B | H|*x 0.047 0.045 0.056
1\ N I INE: 0.049 0.051 0.051 0.056 0.048 0.053 0.041 0.050 0.041 0.042
mE WX E F|E 0.048 0.053 0.053 0.051 0.044 0.047 0.039 0.052 0.037 0.051
& W [ad fES 0.044 0.044
B e R |7 0.043 0.044 0.050 0.053 0.054 0.045 0.040 0.054 0.041 0.045
B W W B|*x 0.042 0.041 0.049 0.047 0.047 0.044 0.037 0.047 0.036 0.043
B W Z[1x 0.048 0.050 0.049 0.053 0.044 0.046 0.039 0.047 0.037 0.044
=R ES INES 0.048 0.047 0.062 0.048 0.044 0.047 0.038 0.055 0.043 0.046
BE £ T|R L 0.051 0.050 0.053 0.057 0.051 0.053 0.038 0.049 0.037 0.044
Mg ET|E (1 0.050 0.049 0.042 0.052 0.052 0.046 0.040 0.048 0.040 0.047
nN # BT[N M 0.046 0.048 0.046 0.045 0.051 0.045 0.041 0.057 0.041 0.045
FREEETS Bl*x 0.045 0.048 0.057 0.052 0.057
FEEEET|E B|x 0.045 0.048 0.063 0.050 0.052 0.045 0.041 0.052 0.036
(14) s FRYE (FEFHIE)
T AER A& £ F ¥ fE ue/md
sl | s g 1 547 | P 64 | R TR | PR 1B R S 9 | T 20 B | S B0 B P22 | F 20 B o4 RE
t E M|t ElE 13.2 135
AN T W|ZET 125
=R BN 1F|1E 11.3 11.9 11.6
(15) #MuNBIFRYE (1 BEHEDERIISWIE)
T AR A& £ F ¥ {E ue/md)
seh 1 54E | ER1e | TR 74 R | TR s 4 B | E B 9 4 e | T 2048 e | TR 21 4 | TR 2248 B | T 2aE | T mi2asE R
t E |t Bl 315 316
1NN N I W|ET 353
=G b F|1E 37.2 30.5 33.1
(16) AR vikibKkFE (FFHE)
HET s A& £ F ¥ {E (ppmC)
el 1 54e | ER1e 4 | TR 74 R | R 84 R | E B 9 4 e | T 2048 e | T m 21 4 | TR 2248 B | T 2sE e | T mi2asE R
& R H|= ElE 0.12 0.11 0.12 0.12 0.11 0.12 0.10 0.08 0.09 0.09
t B X =] ES 0.10 0.06 0.04 0.06 0.05 0.05 0.07 0.08 0.08 0.07
m# ET|A H1E 0.07 0.09 0.07 0.10 0.10 0.09 0.07 0.07 0.05 0.05
(D) FEAZvikibKkFE 6~BFIZEITHFEFHIE)
— AEE A& 6~9RFCHITHEFHE (ppmC)
i | s i1 saE | g6 | R 7 e | TR 84 B | R 94E e | o0 | T 21 | E 224 B | R2a 4R BE | R4 B
& R H|= Bl 0.13 0.12 0.13 0.13 0.12 0.13 0.11 0.09 0.09 0.09
t E WX H|*% 0.11 0.06 0.05 0.07 0.06 0.06 0.07 0.08 0.08 0.07
m # ET|N i RES 0.10 0.12 0.10 0.12 0.12 0.1 0.08 0.08 0.06 0.06




(18) A3 > (FEFYE)
A A& £ FE ¥ {E (ppmC)
el | g 5| Tavi | Tru 7| Ta s | Erui o | Taicom | Erro | Taoo | Erros g | T4
= B 1.88 1.88 1.90 1.90 1.91 1.95 1.94 1.94 1.99 1.98
X H|*® 1.80 1.80 1.82 1.82 1.82 1.84 1.85 1.86 1.85 1.87
] i e 1.88 1.87 1.87 1.88 1.88 1.89 1.90 1.90 1.91 1.92
2ixibkFE (FEEHE)
AEE A& £ F ¥ {& (ppmC)
sl (e ppisa | T | T | s am | TR o | E R0 | E 21 | F 224 B | T rr2sE B | R4k e
= BlE 2.00 1.99 2.01 2.03 2.02 2.06 2.04 2.02 2.08 2.07
X =1 ES 1.90 1.86 1.87 1.88 1.88 1.89 1.92 1.94 1.92 1.94
] | 1.95 1.96 1.95 1.98 1.98 1.98 1.97 1.97 1.95 1.96




4 BYPEBHARAEROFRATEROEFEL
(1) —EHER (EFI9E)

—-— AEE JzFe £ F 5 & (ppm)
i | s i1 saE | g1 6 | R 7 e | TR 84 B | R 04E e | T Rro0 s | T 21 | E 224 B | R2a 4R BE | R4 B
& R TR & |& 0.032 0.033 0.037 0.033 0.034 0.031 0.027 0.028 0.026 0.026
€ R Wm|(B)F BT |& 0.038 0.041 0.039 0.037 0.033 0.032 0.032 0.030 0.027 0.026
€ R WAk I |ET 0.032 0.026 0.025 0.026 0.023 0.022 0.020 0.020 0.019 0.019
& R H|(BE)ER @1 |& 0.023 0.025 0.025 0.022 0.022
A mET|[(BF AT |1E 0.030 0.034 0.033 0.033 0.030 0.028 0.022 0.022
(2) —Bie=ER (1 BEHEDFREI8%IME) (GREEZ : 0. 04ppm~0. 06ppmLL )
- AEE Bg 1B FHEDFERI8%IE (ppm)
gl | i saE | E i 64m | E 1 7R | E s 4E | 1048 k| Emio04E | i1 R p| T2 | AR o3 | TR0 ERE
£ R m|(BX & | 0.048 0.050 0.052 0.051 0.048 0.048 0.041 0.040 0.041 0.039
£ R M|[(B)AK BT |& 0.060 0.063 0.054 0.052 0.048 0.048 0.047 0.043 0.041 0.041
& R (B I |£T 0.050 0.041 0.041 0.041 0.038 0.039 0.036 0.037 0.033 0.034
& R W|(E)ER #I | 0.035 0.037 0.038 0.035 0.033
B2 HET|[(B)% A |1E 0.048 0.054 0.054 0.056 0.054 0.050 0.042 0.038
) —HILER (FFEHME)
_— A A& £ F 5 & (ppm)
Ml | g1 54 | T 1 64 | TR TR | SRR 184 FE | T 94 [ | T 20 B | S0 A S| 224 | 20 | T4
£ R m|(BX & | 0.056 0.058 0.057 0.050 0.047 0.040 0.028 0.026 0.023 0.021
£ R M|[(B)AK B |& 0.077 0.082 0.072 0.063 0.050 0.044 0.041 0.033 0.029 0.022
£ R M|(B)& I |£T 0.024 0.018 0.016 0.016 0.013 0.013 0.011 0.011 0.010 0.010
& R W|(E)ER #il | 0.020 0.024 0.021 0.019 0.018
B2 HET|[(B)% A |1E 0.042 0.035 0.030 0.029 0.024 0.029 0.029 0.026
(4) ZHEIEY (FFHME)
HET anpg |HE £ ¥ ¥ fE (om)
’ ol g 1 seE g | TR 6B E R T | TR 8| PR 10 | TR0 | ERko 1 | TR0t | PrRkos | TAu2aERE
£ R m|BX & | 0.088 0.091 0.093 0.083 0.081 0.070 0.055 0.054 0.049 0.048
£ R M|[(B)AK B |& 0.115 0.123 0.111 0.100 0.083 0.076 0.072 0.063 0.056 0.048
£ R M|(B)& I |£T 0.056 0.043 0.041 0.041 0.036 0.035 0.031 0.032 0.029 0.029
£ R H|(B)ER 71 |& 0.043 0.049 0.046 0.041 0.040
B2 HET|[(B)% AT |1E 0.073 0.069 0.063 0.062 0.053 0.057 0.051 0.048

() —EbRE (FFHE)

T AR A& F T ¥ {E (ppm)
’ Hoteh | st sap | ERv1eE | TRt | R s R | E R 1 94 BE | 204 B | TR 21 4 | TR 2248 B | T R2sE B | R4 RE
& R WX & |@& 0.8 0.9 0.9 038 0.8 0.7 06 06 06 06
£ R M|[(B)kH B |&E 1.7 14 1.2 1.1 10 0.9 0.9 0.9 10 10
£ R H|(B)& I |£T 05 05 05 05 04 0.4 04 0.4 04 0.4
£ R W|(E)ER §1 |7 0.7 0.6 0.6 05 05
N mENN BB 05 0.4 04 0.4 04 0.3 03 0.3
B2 mET|[(B)% AW |1E 0.7 0.6 0.6 0.6 05 05 04 0.5 04 0.4
6) —E&ibixFE (1 HEHEDER 2 %ERIME) (GRIEHE®E - 10ppmLF)
- AEE A& 1B EHED FRE2%ERSME (ppm)
” Ml | 1 seE e | T 16 | R 74 | TR s B | E A1 94 B | E 20 | T o1 | E 224 e | ER2s 4R B | E 24 B
& R WX & |@& 1.4 14 14 1.2 1.1 10 1.1 1.0 1.0 0.9
£ R H|(B)kH B |&E 26 21 1.9 1.7 14 1.2 14 16 1.9 1.8
& R H|(E)kE I |£T 0.9 038 08 08 0.7 0.6 06 0.7 06 06
& R W|(E)ER §I | 1.1 1.0 1.0 0.8 0.8
N mlEN B & 0.8 0.7 0.7 0.7 0.6 05 05 0.6
o mET|[(B)% AW |1E 1.0 10 0.9 0.9 08 0.7 0.7 0.7 0.7 0.6




(D _FEfFAME (FF1

)

— awg | BE EEHIE (mg/m?)
W | erpisai | Tavewn | ERirEr | Eiisas | TrioER | TaooER | TR EE | R | TRsER | TruEE
& R TR & |& 0.023 0.024 0.026 0.024 0.024 0.021 0.016 0.016 0.015 0.016
& R ()R BT |& 0.030 0.031 0.027 0.027 0.025 0.028 0.029 0.031
€ R WAk I |EI 0.023 0.024 0.022 0.018 0.020 0.017 0.017 0.018 0.018
& R H|(E)ER @1 |& 0.027 0.025 0.020 0.020 0.019
o2 HET|[(E)F AT |1 0.026 0.026 0.023 0.024 0.019 0.019 0.020 0.020

(8) FEMFAYME (1B FEDERE 2 %IRIME)

(GEIEEA - 0. 10mg/m°LLF)

_— — B& 1B EHEDERE2%RME (mg/m®)
W | Eppisars | Eavi6sE | TR 7ERE | ERsERE | ER19E R | TroEE | ER2 ERE | TR | TisE | ERaER
& R m|EX B |& 0.048 0.052 0.062 0.056 0.058 0.050 0.037 0.046 0.035 0.038
& R H|(B)R B |& 0.059 0.065 0.058 0.058 0.058 0.066 0.078 0.090
& R W|(B)E T |#T 0.052 0.056 0.058 0.051 0.045 0.042 0.047 0.039 0.045
& R H|(BE)ER @i | 0.057 0.063 0.052 0.048 0.049
B2 mET|(B)EF AT |[1E 0.059 0.062 0.059 0.052 0.044 0.050 0.043 0.047
(9) A2 vikibkFE (FEFHIE)
oy axn | PR EFH9{E (ppmC)
W | erpisti | Tavetr | ErvEE | EaisasE | TaioERk | Troosr | ERo1EE | EroaE | TrsErk | TroaEE
& R w|BH & |@& 0.55 0.58 0.42 0.31 0.30 0.25 0.16 0.18 0.14 0.13
(10) EAR ixibKFE (6~IFICHITHEEHE)
oy asn | R FEFH{E (ppmC)
W | erpisti | Tavesr | ErivEE | EaisEE | TaioER | TrooEs | Eao1EE | ERoasE | TrsER | TroaEE
& R H|EH & |& 0.48 0.49 0.37 0.27 0.26 0.21 0.14 0.17 0.13 0.12
() A2y (FFHIE)
oy axn | R FEFH{E (ppmC)
W | Eapisar | ERvi6sE | TR17ERE | ERsERE | ERioE R | Tr0E | ER2 ERE | Ea2Er | TsEr | ERaER
& R H|EH & |& 1.98 2.01 1.92 1.88 1.89 1.89 1.89 1.89 1.88 1.89
(12) &ZxibKkFE (EFHE)
- o A& FEFEHE (ppmC)
Wil [ Epgist | Eaiomm | Earam | Easer| TriosE | TricosE | T4 E | Thcos | Trosak | TrossE
£ R WA B | 2.53 2.60 2.34 2.19 2.19 2.14 2.06 2.07 2.02 2.02
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